
* Do Q3, Q4, Q5 in your copies. 

* Do Q1, Q2, Q6 in your book. 

 

 

 

 

 

 

Solution 3:- (a) 4cm 

                                                                   

OY , OX , OR  

O  

Chord  

diameter  

Radius = 1.2 cm 

Diameter = 2.4 cm 

O 

(b) and (c) are homework 



(b) 5.5 cm 

                            

 

 

 

 

Solution 4:- (a) 8 cm 

   Radius = 
1

2
 × diameter 

      = 
1

2
 × 8 cm 

     = 
8

2
 cm = 4 cm 

(b) 24 cm 

Radius = 
1

2
 × diameter 

      = 
1

2
 × 24 cm 

     = 
24

2
 cm = 12 cm 

 (c) and (d) are homework 

(c) and (d) are homework 



 

 

Solution 5:- (a) 3 cm 

   Diameter = 2 x radius 

           = 2 x 3 cm  

       = 6 cm 

 

  (c) 10 cm 

Diameter = 2 x radius 

           = 2 x 10 cm  

       = 20 cm 
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(b) and (d) are homework 

(c) is homework 


